1 |Luthenay 17161 5]1|]0|0]|91]42]49
2 [Chaulgnes 131 614|021 |1]|77]45]32
3 |Urzy A 131 613|1|2|0(f71]62] 9
4 [Gimouille 1216]12|2|2|0|76]68] 8
5 [FourchambaultB |11 6| 2] 1| 3| 0]|67]|66| 1
6 [Saint-Amand 11162 113|0]|62]82(-20
7 |Guérigny B 10/ 6] 2|0|4|0|59]|74]-15
8 |Guérigny D 216|010 2]4]12|88]|-76

1 [Coulanges B 15551010 0(82]38]|44
2 |Asptt Nevers 131 514)0]1|0(f71]38]33
3 |Pougues 13|/ 63]|1|2]|0|74]|70]| 4
4 [Cercy 915]12|10]3[0]|57|52|5
5 [Fourchambault A | 9| 5203 0|53|[56] -3
6 [Urzy B 6(5(0(1|4]|10]|42|78]|-36
7 |Guérigny C 4(511(0|1(3]|20]67]|-47




